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Show work for every question.

2
1. Find the coordinates of the hole: f(x)= X" -x-6

f(x)= (X =3)(X+2)

- X+2
D3 {)= o%
X-3=0 )= 2%
X=3 ;

Hole - (3,5h)

Oct 22-9:12 PM

2. Find the vertical asymptote(s): f(x)= ;Z“;LE;
X+ x—
&+3X(x-2)
£(x) =
(2x+3)(x-))
no hole.

VA den=0
2x+3=0 x-1=0

-3 _
X="5 X= |

Oct 22-9:12 PM
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. . 2x° —3x +1
3. Find the horizontal er-slentesympietels): f(x)=—————
Cho“é’ S 5 o - x'—2x
Q\) o 3 ’
9 =0 X g =0
4. Find the x and y intercepts: f(x)= w
- —2x=1b
Fd = KD _ Cfx)= XL
(x+3)(x=5) X>3
o, -inY : hum= 0 w!&
hole ot X*":s) ! N |
S0 NnO x-.‘r\w O X“"O %"“
f:lm °/ (\ J ) X= l ) _OL-S
Y=3
(03)
Oct 22-9:13 PM
5. Graph and analyze: y ~— 5;‘: (show all work in the space provided)

© (x+2YX=2) - X2
hole: (=2, -4.) y-.(xL-rg%)(T_%)_—a ¥ xe3

x=-2 9= :2'2%2- - 4
VA: x=‘3 HA /. M—“
den=0 n°=d"®
X+3=0 9= |
z : 2.
x-intercept(s): 2 O y-intercept: 2(0‘-5-
num=0 - X2
X_Q =0 H X'l' 32
X=2 Y= %_?31
Y=-3

Oct 22-9:14 PM



9 - per1 Polynomial and Rational Inequalities Day 1.notebook October 30, 2019

#39) P(x)=x* —2x® —3x* +10x —10

“_.'M‘
Tables: (N
X-2 :
X) == -
£ = 22 :
i_:-’ aln] nlm nlm l\lw
y > X

G

Xf4-5 YO X|~-25 S
‘7'(0 35 26/ \/l 38

Oct 22-9:15 PM

P = (KR=2ee Y (k=S )

QK 1<
Q= ] - K7_~LK+9\
b: —Sum =" ("f‘( 1"/"(): J\
c= iz (1) )= ==l =22
0,‘;.3,,,~_—(—rs’+/§):o:é x-S

o= (}"“L = (-BXEY=~S=

(f)(() = Y- 1,(3-—3)8‘#70 x—rO
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Day 9
Polynomial and Rational Inequalities

Oct 31-11:59 AM

3.6 Polynomial & Rational Inequalities PreCalc
Unit 3 Day 8

® i~ ude &
(] [, s ol \Uu&i

Part 1: Polynomial Inequalities

Step1: Relate to zero.

Step 2: Createarelated equation. R.E. %_.__g__}

Step 3: Factor the polynomial.

Step4: Set each linear factor equal to zero to find the critical values.

Step5: Set-up a number line and plot the critical values found in step 4 on the line.

Step 6: Use the inequality to determine whether or not the critical points should be included or not
by using an openor closedcircle.

v est a point in each region. Use the inequality to determine whether or not the region(s

shou!d be shaded or rﬁ;—haded. ! Y gren()

Step8: Your answer must bein sef—buf!d@fnfer‘va! notation.

Oct 3-10:12 AM
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Solve. o

@

1. x*-7x+10<0

o RE. X =x +1o =0
(x=s)(=2)=0

¥=2% Ix=x=
o , 21 IO

x - =+
- 4 1+

(x—2) ——Bd—
+ 57

%) ?X_ASZ
[, s

nge

Oct 3-10:16 AM

2. x%> 4 X*—420
e, -1=2
-

5 K\X L O™ X >3

Oct 3-10:16 AM
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3. x%-12<4x
Xl___'—(x ‘\l <O

R & (X~)XXtD) =0
Yz=C ) X = —

— reg

- o o

Cx—o) = 1 +
(x+2) 2 Ouman 5>
—-\—\'L@b +

Oct 3-10:17 AM

4 x3-x*-9x > -9

XP—-9x +4=0

x(x-1)-90e=1) =0
(k=) (=) = ©

(5= (x+3) (x3)=0
X:l )('_’--5 K—;B

Q<.

Kooyt -Ax +4 20 <

;(3(“\3

S | -3ex&l or‘XZSE
7 [0 VU [3e)

(D -3 — +, F
T P e
(‘x_z)—-,— { — +~

_&-3@ _ 3D

Oct 3-10:17 AM
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Part 2: Rational Inequalities

Step1: Relate to zero. Nww - uwe< o

]
S
LF;d‘ep 2: Find the LCD & multiply by missing factors ’Yw;\b{@‘ ““2’“
Step 3: Write over one denominator.
Step 4: Combinelike terms. OLOM n —> O
Step5: Set each numerator and denominator equal to zero. QH'}\
Step 6: Put r*rhcal pointsona number line. The critical point determined by your numerator will be
either openor closed and is determined by your inequality symbol. Your denominator will
always be an open circle regardless of the inequality.
Step 7: Test a point in each region. Use the inequality to determine whether or not the region(s)
should be shaded or not shaded.

Step 8: Your answer must be in set-builder or interval notation.

Oct 3-10:17 AM

Solve

5. 1 =0 —
X+4
DM:'-"—O \é—e"\ o

Oct 3-10:17 AM
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Sy -bexel’y o (-6 1)

Oct 3-10:17 AM
2x -1 5
Bx + 3
Nk =0 dv/- =°
Ax-l =0 Sx+3=0
X = '3 X = REAS
o (@) +
—o0 | o [ @
(2%"\) e { - ( +
-~
( Sx+3) Nt

Oct 3-10:18 AM
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Oct 3-10:19 AM

Nov 1-9:05 PM
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